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P P Pu u uz z zz z zl lle e e t t ti iim m me e e 
Seven up! 

Find the answer on the next page. 

Put the numbers 

1,  2,  3,  4,  5,  6  and  7 

in the circles so that each 
straight line of three numbers 
adds up to the same total.
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Seven­up! 

These lines all add up to 14 

2  5 

3 

4 

6 

1 

7 

I expect you found this one not too 
tricky. And no wonder! There were 
several different ways of doing it! 

Amazing eh, but you could have 7 in 
the middle, or 4 or even 1. 

I've shown you one way above, can 
you work out others?


